Pre-Algebra
AS 9
Answer Key

42.
44,
46.
48.
50.
52.
54.
56.
60.
62.
64.
66.
68.
70.
72.

60
280a"b?
36b%c?
3Ox3y2

vV V. A

w

A

5x 10°
8.9x 10°
6

5c¢

13 nations

5.1

34.
36.
38.

40.
42.
44,

5.2

2.3125

3.8

0.63 (except the line goes
above the numbers)

6'/s

10%/333

/s

/s /s

0.375 | 05 0.75 | 0.875

46.
48.
56.
58.
60.
62.

91/495

1Y/s

1/8, 1/5, 3/8, 3/5, 5/8
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2. 4/z
4. 9/11
6. 1'/,
8. 5/x
10. 7/20
12. 30-2x
5x
14. 1°/s
16. 6°/
18. 3°/q
20. -7/8
40. D
42. B
44, yes
46. 0.6, 0.66, */;
48. x°
50. Mean = $34,600
Median = $26,000
Mode = $22,000
| would use the mean.
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length

volume

length

quarts

ounces

a. 3 handbreadths; 66
handbreadths; 22 spans

b. Students were asked to
measure the length of any
object in handbreadths,
spans, and rods.

c. No correct answer -
students were to choose
which of the 3
measurements was best
for their measurement.
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Practice Quiz
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